Adı Soyadı:………………………………….


Aşağıdaki çarpma işlemlerini toplama işlemlerine çeviriniz.

2x2=4
       ……………………………………….    3x2=6            ………2 + 2 + 2 = 6 ………………      

2x3=6
       …….…………………………………     3x3=9          ………………………………………
2x4=8
        ………………………………………
   3x4=12
   ………………………………………
2x5=10           ……………………………………….
  3x5=15          ………………………………………

2x6=12            ………………………………………  3x6=18
   ………………………………………
2x7=14           ………………………………………   3x7=21
………………………………………
2x8=16          ………………………………………   3x8=24
…………………………………………
2x9=18          ….……………………………………  3x9=27
………………………………………
2x10=20          .…………………………………….   3x10=30
………………………………………           
4x2= 8          ..………………………………………  5x2=10
.............................................................
4x3=12           ………………………………………. 5x3=15
………………………………………
4x4=16          ………………………………………   5x4=20           ………………………………………     
4x5=20          ……………………………………….  5x5=25
………………………………………
4x6=24          ………………………………………   5x6=30
…………………………………………
4x7=28          .………………………………………. 5x7=35
…………………………………………
4x8=32          ..……………………………………… 5x8=40
…………………………………………
4x9=36          ………………………………………   5x9=45
…………………………………………
4x10=40
    ..…….................................................   5x10=50
…………………………………………
6x2=12          .………………………..…………       6x4=24            ……………………………………………

7x2=14          ………………………………………   7x4=28
……………………………………………

8x2=16          ………………………………………   8x4=32
…………………………………………..


9x2=18          ………………………………………   9x4=36
……………………………………………

6x3=18         ………………………………………    6x5=30
……………………………………………

7X3=21         ………………………………………   7x5=35
……………………………………………

8x3=24         ………………………………………   8x5=40
……………………………………………

9x3=27         ………………………………………   9x5=45
…………………………………………...

Bu dosya www.okula.net adresinden indirilmiştir.


